A3 BA=T L= SN AREAD
H: JUU=R AMEE S (MISX/FHLASIH)
SRl HHUSKAIL 25 L 29 CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
=ER< R 511,797,763 373,412,222 138,385,541
= 447,620,627
J| 1,102,821
< 63,074,315
ZOHAEX AMEE SH(MIA=SX/HAANSKRE) 88,365,730 65,738,937 22,626,793
= 74,250,345
J| 94,160
< 14,021,225
U =ETAE &5 & 29 31,655,375 15,769,686 15,885,689
2 24,213,971
J| 94,160
< 7,347,244
HYANL &5 F4 508,435 495,480 12,955
201 et 7,000 7,000 0
01 At 22l 7,000 7,000 0
OZOee & X F2AAHAIFH 2,000
OZMA=SXAZE 23 4,000
OZOMASXHE SAKL &2HES 1,000
202 04l 12,100 12,100 0
01 = LH 4 Hi 12,100 12,100 0
OZMA=SXNSE & MHHH X+ K& =& 12,100
301 Ler2a s 3,300 3,300 0
09 HALAHIE& S 3,300 3,300 0
OHMA=SKIEE SAX A& HAA 2o 3,300
307 21201 A 283,715 265,000 18,715
11 AFSI S RIAFS 2 & 283,715 0 283,715
OZOMHIXNAEH 24 58,000
OZOMALAS A 2 44,400
OS2 H HEX ZHOHAEAAIE H=X A 10,360
OZOMABEAAN LT AEEH 2 125,955
OFMAHEYANLANU=ENH 2L 45,000
308 MXIEHMSOIH 202,320 208,080 25,760
01 HXNHHBHELS 202,320 208,080 A5,760
OA=T ZOUAASAMA 29E 202,320
YACHEEH ITHLTEIY 2% N (21D) 117,702 124,000 16,298
J| 94,160
= 23,542
307 glz2tol & 117,702 124,000 A6,298
J| 94,160
< 23,542
10 AL SXAIEEE2EHEX 117,702 124,000 N6,298
OZJACTHEHR SSME=Z2H 29X 117,702
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'}
H: ZHASEX MBS SH(MIEXN/HAHSIH
o FUHUSXAL 25 L 29 (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
Jl 94,160
< 23,542
ZOofe MEXNJMME 22 367,964 333,920 34,044
307 gl2tol & 265,148 236,000 29,148
11T ALS S RAEE = 265,148 0 265,148
OANLHMINSXNAEH 2 30,000
OXNHFMHANS XN AHEH 29 139, 148
OH+TMH MHEXNZAME 2 37,000
232 2E 59,000
308 MtXIEHSOIH 102,816 97,920 4,896
01 HXNHHBHELS 102,816 97,920 4,896
OAZZHS XNEXNAHH 29 102,816
o d2s =& 130,380 120,000 10,380
307 gl2tol & 130,380 120,000 10,380
11 ALS S RAEE = 130,380 0 130,380
oFMHeIZZs XA 16,000
OHUMAZESXNAEH 29 114,380
Zojel MATHEALE 2 393,310 272,850 120,460
307 21201 A 393,310 272,850 120,460
10 ALSISXAIEEE2IHEX 393,310 272,850 120,460
Osdd=E2sHgE 23 207,080
OSEESAYHH 29 186,230
Zoiel XGASMEANE 29 2,726,960 2,476,014 250,946
201 Let2dE] 3,000 2,183 817
01 At 22l 8l 3,000 2,183 817
OZMASXAIE SAL &4FHES 3,000
202 (4 Hl 10,000 10,000 0
01 = LH 4 HI 10,000 10,000 0
OFMHUTHE X AE2E XE =& 10,000
301 et d = 6,000 6,000 0
09 HALAHIEA S 6,000 6,000 0
OZOMASKAIE SAX HEs FAL 24 6,000
307 21201 A 2,547,960 2,216,271 331,689
10 ALSISXAIEEE2IHEX 2,547,960 2,216,271 331,689
OEXEZANZ 24 76,000
OZMY MESHH 24 232,280
oot =2tEsA 29 108,860
Ok #+3SIHEH 2 197,880
OZ3AZZMesE=A2 2Y 1,703,800
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AT BASTGER SA R0l
HE: Q=X AYE S (MISN/HLHEST)
SRl HHUSKAIL 25 L 29 CERED
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OZOMAMIIN=XEH 2 125,810
OMetM=2tEsAs 29 103,330
403 UHXSHHSA=0l& 160,000 0 160,000
01 X SHHM U422 L 160,000 0 160,000
OFOH XDASITHEALE JIsE2S 160,000
ZOHANFAIE 2EXA 24,065,260 11,071,859 12,993,401
2 21,838,729
< 2,226,531
307 glz2+ol & 250,960 210,900 40,060
10 AL SXAIEEE2EHEX 250,960 210,900 40,060
OHML otLEEHIIEsAs 29 142,320
OXe IsMEIIF(tUHEAY) 22 40,880
OXZMe ZSME8IH(0IY,0t) 2 67,760
308 XXM SOIA 23,814,300 10,860,959 12,953,341
= 21,838,729
< 1,975,571
01 AXHHILEES 23,814,300 10,860,959 12,953,341
OFMAANFAIZ 22 dEgeld & 103,680
OFTOMHANFAIE 2K (AZ) 23,710,620
= 21,838,729
< 1,871,891
ZONCIMNLTHEANE JIsB2ZASE(21) 240,045 272,196 A 32,151
=2 184,650
< 55,395
403 XSS A0l & 240,045 216,196 23,849
2 184,650
< 55,395
01 XM A=2EE 240,045 216,196 23,849
OYHAXNATHE AL I SESAY 240,045
2 184,650
< 55,395
ZOIH=AIE JDISELAL(ZD) 2,556,929 78,817 2,478,112
= 1,864,292
< 692,637
402 RI2HXt20l M 381,000 0 381,000
= 190,500
< 190,500
01 St t= AP E X 381,000 0 381,000
OFMUANFAIE JIsEZAEY 381,000
= 190,500
< 190,500
403 XA SA=0l& 2,175,929 78,817 2,097,112
= 1,673,792
= 502,137
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AR BASXALR SN ARBOHAD
H: JUU=R AMEE S (MISX/FHLASIH)
SRl HHUSKAIL 25 L 29 CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
01 HXSHMA2E X 2,175,929 78,817 2,097,112
OZOMANFAIE JIsEZAY 2,175,929
= 1,673,792
< 502,137
SHEZ0O FEIE AIE (2 2) 190,190 209,950 A 19,760
= 146,300
< 43,890
403 MHXISHE X201 & 190,190 209,950 A 19,760
= 146,300
< 43,890
01 X SHHN2E = 190,190 209,950 219,760
Os0E Z0HQ F=EIHX 190,190
= 146,300
S 43,890
ST NSUSBAIHASE (I D) 234,000 234,000 0
= 180,000
< 54,000
308 MtXIEHMSOIH 234,000 234,000 0
= 180,000
< 54,000
01 HXNHHNBHELS 234,000 234,000 0
O=ZSHM THSHMEXH 234,000
= 180,000
= 54,000
ZOHQ A 25t 96,200 71,200 25,000
308 XX EHSOIA 96,200 71,200 25,000
01 HIXNHHBNEES 96,200 71,200 25,000
OZML M2F=g X 43,200
OFHel OFst 24 28,000
O=STHM UHHME MES £XH 25,000
ZOHAU=SRAIG 2 2 ML=F 28,000 4,400 23,600
307 glz2+ol & 28,000 0 28,000
11T MISXASEX 28,000 0 28,000
oFMe=X2H E-x&Ecld ZMUR 28,000
OHelstord L THE XA 56,317,780 49,623,901 6,693,879
= 49,895,588
< 6,422,192
Foe D=2 XH 107,000 106,600 400
308 XX EHHSOIA 107,000 106,600 400
01 AXHHBILEES 107,000 106,600 400
OZ0e HBle0ez8 X& 30,400
oOFMe 24 XA 52,800

- 174 -



AR PAST LR SN BREMOD
HE: Q=X AYE S (MISN/HLHEST)
SRl MO MBI o HEX (B9 ®R)
L=
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
OFZOQ ALHA X 23,800
o0 A ES XNEME(=21) 13,644,544 12,652,914 991,630
= 12,573,116
< 1,071,428
308 XXM SOIA 13,644,544 12,652,914 991,630
= 12,573,116
< 1,071,428
01 IXNHHBANEES 13,644,544 12,652,914 991,630
OXoe Atzl&s XNEHME 13,571,428
= 12,500,000
< 1,071,428
OFe S=52de 73,116
= 73,116
SSHMHL #s2x X3 170,252 107,568 62,684
308 XXM SO0IA 170,252 107,568 62,684
01 IXNHHBNEES 170,252 107,568 62,684
O=)H =& gs2x XA 170,252
ZOHQ 2EXLXe NE(=1) 800,496 684,477 116,019
= 667,080
< 133,416
308 XtXIEHHSOIA 800,496 684,477 116,019
= 667,080
= 133,416
01 AXNSHHEBANEES 800,496 684,477 116,019
OXFOMe =XNLXel X 800,496
= 667,080
= 133,416
Zofel gety dxtel (2 2) 2,348,976 2,104,245 244,731
= 1,957,480
< 391,496
308 XXX SO 2,348,976 2,104,245 244,731
= 1,957,480
< 391,496
01 AXNSHBLELS 2,348,976 2,104,245 244,731
OFOHel ety dXtel XA 2,348,976
= 1,957,480
< 391,496
dZ2Y AZZO0HQl OFOFAF A (=2 1) 361,771 336, 241 25,530
=2 344,544
< 17,227
308 X XIEHM S0 A 361,771 336, 241 25,530
2 344,544
= 17,227
01 IXNHHBNEES 361,771 336, 241 25,530
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A3 gASRHAR SHEREAD
H: JUU=R AMEE S (MISX/FHLASIH)
E: ZOHUMEE Y THEXR (&)
L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
O AI2H ZHOH I OHOFAL TIHA 361,771
2 344,544
< 17,227
ool MAMZEHIHAIE XA (=) 148,438 148,125 313
= 59,375
= 89,063
307 21201 A 148,438 148,125 313
= 59,375
< 89,063
10 ALSISEXAIEEE2EHEX 148,438 148,125 313
OO MASZT BHIHAIE 29I 148,438
= 59,375
< 89,063
ZOHQl MAZEHIAIY 243 X 58,500 38,500 20,000
201 Let24d] 3,500 3,500 0
01 At 22/l 3,500 3,500 0
Ol MAZ HIHEX &2 3,500
307 glz2tol & 55,000 35,000 20,000
10 ALl SXAIEEE2EHEX 55,000 35,000 20,000
OFOHIMAS EHOHAIE OHAHE A XA 55,000
Zoerdz2(=21) 26,748,271 23,295,081 3,453,190
= 23,701,000
< 3,047,271
308 XXM SOIA 26,748,271 23,295,081 3,453,190
= 23,701,000
< 3,047,271
01 AXHHBIYEES 26,748,271 23,295,081 3,453,190
o=z XA 26,748,271
= 23,701,000
< 3,047,271
JlzMax>g Xl g X2(=22) 4,211,083 3,076,486 1,134,597
= 3,731,339
< 479,744
308 MtXIEHSOIH 4,211,083 3,076,486 1,134,597
= 3,731,339
< 479,744
01 HXNHHBHEELS 4,211,083 3,076,486 1,134,597
oM=< XNS(J=x) 4,211,083
= 3,731,339
< 479,744
ae Foisg N=(=22) 3,702,624 3,106,957 595,667
= 3,280,806
< 421,818
308 XXM SO0 A 3,702,624 3,106,957 595,667
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EAEXHE= M Z2Z0H D
FOH=SX AEE SH(MISX/HAAHNSIE)
ZOHOIMBOE U HEX R (B9 ®R)
- _ — d =
CRN I S(EH) - HRAY - BYS 0l &k o4 e HlnE2
= 3,280,806
= 421,818
01 IXNHHBNEES 3,702,624 3,106,957 595,667
OFM=== (X&) 3,702,624
= 3,280,806
< 421,818
ZOoHel 2ZHl XNA(=1) 934,500 1,008,000 273,500
= 890,000
< 44,500
308 XX EHHSOIA 934,500 1,008,000 AT73,500
= 890,000
< 44,500
01 AXHHILEES 934,500 1,008,000 273,500
O&OQl 2l=Hl XA 934,500
= 890,000
= 44,500
Zofel XrdEHl X&(=2212) 29,400 39,900 A 10,500
= 28,000
< 1,400
308 AHAIEHHSOIA 29,400 39,900 A 10,500
= 28,000
< 1,400
01 HIXNHHNBHNEELES 29,400 39,900 A 10,500
OZO0HQ X4 &tdl XI& 29,400
= 28,000
< 1,400
ZoHel SEASHH(21) 39,086 45,984 A 6,898
= 32,572
< 6,514
308 XXM SOIA 39,086 45,984 N 6,898
= 32,572
< 6,514
01 AXHHILEES 39,086 45,984 A 6,898
OFe sES&tdl XN& 39,086
= 32,572
< 6,514
Zoe MEEXRIF nEXI(21) 66,709 81,900 A 15,191
= 63,532
< 3,177
308 MtXIEHMSOIH 66,709 81,900 A 15,191
= 63,532
< 3,177
01 HXNHHBHEELS 66,709 81,900 A 15,191
OZOMAUEERI 2 XA 66,709
= 63,532
< 3,177

- 177 -




AR BASXALR SN ARBOHAD
H: JUU=R AMEE S (MISX/FHLASIH)
SRl MO MBI o HEX (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
ZOHOtS MMEXNZ AL (Z21) 2,237,801 2,136,686 101,115
= 2,061,133
< 176,668
308 AHAIEHHSOIA 2,237,801 2,136,686 101,115
= 2,061,133
< 176,668
01 HIXNHHNBHELS 2,237,801 2,136,686 101,115
OLEHENEIA BIRH ALY 2,237,801
= 2,061,133
< 176,668
ANFEZAN HOHQ 22 XE Ad0ge XNA(21) 62,215 62,429 A214
= 57,303
=) 4,912
308 XXM SO A 62,215 62,429 A214
= 57,303
=) 4,912
01 IXNHHBANEES 62,215 62,429 A214
OAE2A0 F0He B2 I HdHEgE X& 62,215
= 57,303
< 4,912
ZOHOF JtFL =X (=1) 472,537 501,800 A 29,263
= 330,776
< 141,761
307 21201 A 472,537 428,110 44,427
= 330,776
= 141,761
10 Al SXNAIEEE2EHEX 472,537 428,110 44,427
OFOOIIIE dSXE ALY 472,537
= 330,776
< 141,761
ME2 OlsiHE XIsdH 29 7,000 7,000 0
308 XX EHSOIA 7,000 7,000 0
01 HXNHHNBMNEELS 7,000 7,000 0
OMES OlsHEXZHH 29 7,000
GHEZMC JHIAZRO0IXEA 40,000 40,000 0
307 glz2+ol & 40,000 40,000 0
11T MISXASEX 40,000 0 40,000
O EMR JFIAEL0l XA 40,000
LI HEZFAHAQ XNJAMS (2 1) 126,577 43,008 83,569
= 117,532
< 9,045
308 XtXIEHH SOl A 126,577 43,008 83,569
= 117,532
< 9,045
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AR BASXALR SN ARBOHAD
H: JUU=R AMEE S (MISX/FHLASIH)
el MONQIAIINA o ALEIE OISO (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
307 glz2tol & 27,800 27,800 0
11T M SRASEEX 27,800 0 27,800
OXNFZME 220 24 8,000
OZ0e JsFIItHal K& 15,000
o=0ZdUa XA 4,800
OEEMHO WEAIE (=) 34,020 0 34,020
= 32,400
< 1,620
308 XX EHHSOIA 34,020 0 34,020
= 32,400
< 1,620
01 HIXNHHBNEES 34,020 0 34,020
O WM nsXA 34,020
= 32,400
< 1,620
HEZoHel ALSIEN EUXJAAMS(21) 59,415 64,690 A5, 275
= 56,586
< 2,829
308 XX EHH SOl A 59,415 64,690 A5, 275
= 56,586
< 2,829
01 X HHILEES 59,415 64,690 A5,275
O ZOHR A& = 59,415
= 56,586
< 2,829
OEEM ESMHIE N2 (=21) 56,240 23,560 32,680
= 51,800
= 4,440
308 AHAIEHHSOIA 56,240 23,560 32,680
= 51,800
= 4,440
01 HIXNHHNBMNEELS 56,240 23,560 32,680
OWgHMe E4&HIE K& 56,240
= 51,800
= 4,440
L H o X =X S 100,000 100,000 0
308 XXM SOl A 100,000 100,000 0
01 IXNHHBNEES 100,000 100,000 0
OXH ol A&t E A 29 50,000
OXH B2 SH3 At 50,000
Hes SSME SE(MISX/ o HAH) 423,396,833 307,638,085 115,758,748
= 373,370,282
J| 1,008,661
=) 49,017,890




AR BASXALR SN ARBOHAD
HE: AU CBME BH(MSZR/ Q- HAH)
S Lodiie EEsl ASEH (&2 d &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
cogitel sl ASE2E 20,612,978 19,845,234 767,744
= 17,026,279
& 3,586,699
ColgdXtelAtg (= 2) 20,302,578 19,529,234 773,344
= 17,026,279
< 3,276,299
101 1A dl 25,557 24,094 1,463
= 9,888
< 15,669
03 2N AHAAN2Z2NHE =+ 25,557 24,094 1,463
OLQgRiel dgeldd Qi 25,557
= 9,888
< 15,669
307 glz2+0l & 11,990 11,990 0
= 5,995
< 5,995
10 ALSISEXAIEEE2EHEX 11,990 11,990 0
Ox=8J|& dgolgd (ol dRiel SLIHEAY) 11,990
= 5,995
< 5,995
308 MtXIEHMSOIH 20,265,031 19,493, 150 771,881
= 17,010,396
< 3,254,635
01 HXNHHNBHEELS 20,265,031 19,493, 150 771,881
o2+ & RUAH 19,527,810
= 16,273,175
=) 3,254,635
O%8I|2 Hol 629,475
= 629,475
OLoldRtel BAHSE 63,250
= 63,250
OAZEAIY CldEE XA 44,496
2 44,496
LColdRtel At 310,400 316,000 A5,600
308 XX EHHSOIA 310,400 306,000 4,400
01 AXHHIYEES 310,400 306,000 4,400
oLt & 310,400
LSS ALSIEH & 363,116,208 254,686,867 108,429, 341
= 342,039,472
< 21,076,736
SOXNER H9E 28 116,700 42,000 74,700
301 LA Z 20,000 20,000 0
06 212tQ1 = 2| 0 Hi 20,000 20,000 0
orLolazd & 2 MIFAH JIFAH 20,000
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AR PAST LR SN BREMOD
M AYS LSME SH(MNESN/C - HAY)
S CSMESFEN MIEFN = (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 63,000 22,000 41,000
03 BIAHNHE2IHIEL 63,000 22,000 41,000
OAr3 &Ml 2ZHl X2 (tHeH=2l3l) 63,000
402 RIZ2FX201 ™ 33,700 0 33,700
01 It =2 AL B X 33,700 0 33,700
Olfsgt-elsl HRXNAXE 2 33,700
LoESHEEIN&(21) 623,360 575,042 48,318
= 311,680
< 311,680
307 21201 A 623,360 575,042 48,318
= 311,680
= 311,680
10 M2 SXNANEHE2IHEX 623,360 575,042 48,318
OLQESEEIZ 23 623,360
2 311,680
< 311,680
simloicel dgdH XN (=1) 174,820 168, 126 6,694
2 87,410
< 87,410
307 glz2tol & 174,820 168, 126 6,694
= 87,410
< 87,410
10 AL SXAIEEE2EH EX 174,820 168, 126 6,694
ot e dE2&H XNA(21) 174,820
= 87,410
< 87,410
22" 29 43 N2 4,139,824 4,253,508 A 113,684
308 XXM SO A 2,694,824 2,608,508 86,316
01 AXHHBIYEES 2,694,824 2,608,508 86,316
oZzd 244 N& 2,512,484
OZdzY T3lZz0y 2t N 89,280
OZdzY T2y 294| XI& 93,060
403 A X EHS =0l A 1,445,000 1,645,000 A200,000
01 REXI SRR 8 X 1,445,000 1,645,000 200,000
oL 84 F2Y Js2Y N 1,445,000
LololoHEd ¥ =23 HE 297,028 385,910 A 88,882
201 Yet2 | 20,828 68,654 147,826
01 At 22l 10,828 60,654 A49,826
OLQ=RIIs 28 S =A=STAY =& 6,328
ORLESA & HAXNEZA IHAS €2 4,500
03 A2 Z Hl 10,000 8,000 2,000
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M ox
40 5 4

PA=T L= SN E2E
AU CSME BH (MK /= - HAH)
CEMEEYD ASE0 =

- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
OHOIY SHEQ =5 A 10,000
202 04d| 24,000 24,000 0
01 2L HI 24,000 24,000 0
OLQ0lalEsr ¥ S23F d8 =4 14,000
OLQEZEXNANE L HIQLAANY =& 10,000
307 2iztol & 4,000 4,000 0
11T A EXAIEEX 4,000 0 4,000
ON= LOoX=SA =M 2O K& 4,000
308 XX SHHSOIH 248,200 289, 256 AN41,056
01 XHHINMNEEXTZ 248,200 289, 256 AN 41,056
okeoloyY J1g ¥ d3AH=4l st EAH 20,000
OxQs 29 Tz )| X 90,000
OAHOM= X 36,000
OS=XEFAMHIA 52,200
oOLo=sX SXAYE XA 50,000
Lol 38320 N 201,600 268,800 N67,200
308 AMXISHMSOIA 201,600 268,800 ANB7,200
01 AIXSHMENMNEXZ 201,600 268,800 NB67,200
OXx=x2 XA 201,600
Jx=Z2(=21) 357,266,416 248,686, 881 108,579,535
= 341,499,757
< 15,766,659
308 XHXIEHSOIA 357,266,416 248,686, 881 108,579,535
= 341,499,757
< 15,766,659
01 AIKSHMEAMNEX= 357,266,416 248,686, 881 108,579,535
OPIESSF=ENE=, 357,266,416
= 341,499,757
o= 15,766,659
A2 ZAXKME XR(=21D) 281,250 281,250 0
= 140,625
& 140,625
307 QI2t0| ™ 281,250 281,250 0
= 140,625
& 140,625
10 A SAANEEHESIGHEX 281,250 281,250 0
OZF2Y Z9XKHME N (=2D) 281,250
= 140,625
& 140,625
ENI - ESI SEHEC k&= N 15,210 25,350 A 10,140
308 XX SHHSOIH 15,210 25,350 A 10,140

- 183 -




AR BASXALR SN ARBOHAD
Hu: AYS LEME BH(ASEI/ Q- HAH)
Sol: LR MBERD ASIEG 20 CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
01 HIXNHHNBHNEES 15,210 25,350 A 10,140
O=AMIl - 88 SHL &8s XA 15,210
Loloz - SXAAE &3 32,714,393 30,542,863 2,171,530
= 9,435,238
J| 1,008,661
=) 22,270,494
COIMEAIY 2HXE 21,046,000 20,316,478 729,522
308 XXM SO A 21,046,000 20,316,478 729,522
01 IXNHHMBNEES 21,046,000 20,316,478 729,522
OLQMEAL 2L 21,046,000
LOoSIANE JIsEd(=20) 1,687,799 1,159,918 527,881
= 1,406,499
< 281,300
403 A X EHS =0l A 1,687,799 1,159,918 527,881
= 1,406,499
< 281,300
01 X SHHX2E = 1,687,799 1,159,918 527,881
OL2=EXAE JIs2 1,687,799
= 1,406,499
= 281,300
Le=NAE JIsEZ 50,000 0 50,000
403 UHXSHHSA=0l& 50,000 0 50,000
01 HXHMA=2E X 50,000 0 50,000
OLQ=EXANE JIsEL 50,000
LolEE MHIA(ZD) 6,982,046 8,106,467 AN1,124,421
= 6,430,831
< 551,215
308 XXM SOl A 6,982,046 8,106,467 AN1,124,421
= 6,430,831
=) 551,215
01 IXNHHBNEES 6,982,046 8,106,467 A1,124,421
oko=sAEA HB 6,982,046
= 6,430,831
< 551,215
Skol SZ2od S201 A (=2) 1,210,394 924,000 286,394
J| 1,008,661
< 201,733
308 MHXIEHSOIH 861,914 666,600 195,314
J| 718,261
< 143,653
01 X HHILEXS 861,914 666,600 195,314
Ok SSdS20 22X 861,914
J| 718,261
< 143,653
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A= BASTNHE= M Z2Z0H D
Hu: AYS LEME BH(ASEI/ Q- HAH)
@ Lolog - SXAE &5 (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
403 UHXSHHSA=0l& 348,480 257,400 91,080
J| 290,400
< 58,080
01 X SHMA2E X 348,480 257,400 91,080
O=SHLo SSod S2E0IAY AIAE 2= 348,480
9] 290,400
< 58,080
WP Q2|2 XSAS AHJASAAH(S1) 34,459 0 34,459
= 28,716
< 5,743
308 XXM SO A 34,459 0 34,459
= 28,716
< 5,743
01 AXHHBILEES 34,459 0 34,459
O MHEIAI2 XS AS XA H K& 34,459
2 28,716
< 5,743
ZAE SN (D) 1,703,695 0 1,703,695
= 1,569,192
< 134,503
308 MtXIEHMSOIH 1,703,695 0 1,703,695
= 1,569,192
< 134,503
01 HXNHHNBHEELS 1,703,695 0 1,703,695
OLZANE 2EXA 1,703,695
= 1,569,192
< 134,503
LOEX & FAANE =S 5,299,233 1,101,000 4,198,233
2 4,869,293
< 429,940
ZAMAE EE(=1) 5,299,233 1,101,000 4,198,233
= 4,869,293
< 429,940
403 X SHHSA=0l& 5,299,233 1,101,000 4,198,233
= 4,869,293
< 429,940
01 HXSHHMA=E X 5,299,233 1,101,000 4,198,233
OFAANE EE(=21) 5,299,233
=2 4,869,293
< 429,940
EXANE 29 XA 1,654,021 1,462,121 191,900
M ZEXAE 24 1,644,264 1,458,476 185,788
307 glz2+ol & 186,120 186,020 100
11T MISXASEX 186,120 0 186, 120
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